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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2012
PART-III

HISTORY - HONOURS
Paper- VIII

Duration : 4 Hours Full Marks : 10

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
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s i Answer any four questions from the following : o 4%x5=2
@ @ brafb desa Tex el ¢
a) Why was Reparation considered as a problem ? Analyse its impact i

International politics.

ool (a1 Tl 2 Reafbe zafe @ siweffos aadifors aawﬁmmw |
b) Why did the Nazi-Soviet Non-Aggression Pact (1939) fail ?

FAT-eferre sWigd pie (s59s) Y 2RfRe (&4 ?
c) What is Truman Doctrine (1947) ?

T3 IS (3584) FIE ACE ?

d) Write a short note on Suez Crisis.
A FFo-G2 €97 G3fb 7L Bl fergat |

e) Briefly discuss the causes behind the Sino-Soviet conflict during the period
1956-1964.
S5QY (ATF 508 G HAHICE Bl mﬁmww TR ACHCA ST < |

f)- .. =Did.the politics of Detente scale down the arms race ?

nheited AEmIfe & SrEpTes FCS 7w 2l ?
g) What do you mean by Berlin Crisis ?
qifef 15 qeT0S [ (I 2
h) Analyse the impact of 'Glasnost' and 'Perestroika' on Eastern Europe.
© o TTCAN ‘APHS 8 (AECHES S Sl BT T |
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Answer any four questions of the following : 4 x 20 = 80

@ (@ 51a Az Ted e ¢

Examine the factors behind the rise of Nazism in Germany. What was the impact of

the Nazi Revolution on International politics ? 10 + 10

GfAIce SRR B el smfEsa s | Sl [ swsifes areqifors & aeir

CPeIRe 2

Explain the concept of appeasement. Would you justify its adoption by Britain and

France towards Fascist countries ? 5+ 15

corFaife geire & @R 2 TR omefi o6fe Joa ¢ TR oradife azd & sielfd e

PEA ? S

What is meant by the term 'Cold War' ? Was it essentiall}} a clash between two

contending ideologies ? 5+ 15
NGl FCR’ TEe 6 (A 2 9 6 [ikee wce uft Ramsie sreweefa sicare 4t fbfze st 4w 2

Explain the importance of emergence of the 'Third World' in the post Second World

War international politics. 20
faSTa w2yE Aae] wusifos araifore g Rvea S @wg Il T |

Can it be argued that the ' de-Stalinization' took place in Eastern Europe in the 1950's

and 1960's ? : 20

51 5 9o IfEomre (@ v5eo 8 Sdvo a7 WIS F TSN FwiferTiead qibiee ?
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10.

How did the French colonial empire collapse in Indo-China ? Examine the significance :

of the 1954 settlement in this context.

10 + 100

I eI warTl SoAfRfhie Amrer cere At 2 @3 e maswm@w?

faerge e |

How did the rise of Israel as an independent state create problems in West Asia ? 20 7

[ 218 iR Teiccer 3R «fkew affrmm [Fei ek R s 2

Trace the development of Sino-American rapprochment from the Second half of the "

1960's. ‘ 20

Sovo GF WHE-4 Ao IItd Si-Sicafaaia (Naia wasifs F={c forga |
How would you explain the rise of a 'Lﬁii-polar' world after the cold war ?
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